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Do you consider that study of logic is useful when people can

reason without the study of logic? Give the reason. 10
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Name the quality and quantity of each of the following propositions-
(i) Some sculptors are painters.

(ii) No peddlers are millionaires.

(iii) All merchants are speculators.
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Explain the traditional square of opposition with examples.
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If “All socialist are pacifists” is true, What may be inferred about the truth
or falsehood of the following proposition?

(i) Some nonpacifists are nonsocialists.

(i) No socialists are nonpacifists.

(iii) All nonsocialists are nonpacifists.
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What is the categorical proposition? How many terms in it? Clear

its moods and figures with examples.
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Write each of the following syllogism in standard form and name its mood

and figure-

(i) Some evergreens are objects of worship, because all fir trees are
evergreens, and some objects of worship are fir trees.

(ii) All proteins are organic compounds, whence all enzymes are proteins,
as all enzymes are organic compounds

(iii) No republicans are Democrats, so some Democrats are wealthy
stockbrokers, since wealthy stockbrokers are not Republicans.
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Define the dilemma. How many kinds of Dilemma? Refute the

Dilemma.
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Explain the fallacies, if any, in the following argument-
(i) The stranger is either a knave or a fool.

The stranger is a knave.

Therefore, the stranger is no fool.

(ii) No Robinson is The brakeman, then Robinson lives in Chicago.
Robinson does not live in Chicago.
Therefore, Robinson is not the brakeman.

(iii) If Bacon wrote Hamlet, then Bacon was a great writer.
Bacon was a great writer.
Therefore, Bacon wrote Hamlet.
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In what mood or moods, if any, can a first figure standard form
catergorical syllogism with a particular conclusion be valid?
Answer by appealing to the six rules.
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Explain the fallacies, if any in the following arguments-

(i) Some parrots are not pests.
All parrots are pets.
Therefore No pets are pests.
(i) Some diamonds are precious stones.
Some carbon compounds are not diamonds.
Therefore some carbon compounds are not precious stones.
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(iii) All Russians were revolutionists.
All anarchists were revolutionists.
Therefore All anarchists were Russians.
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What is the definition of Hypothesis? Explain the conditions of a
legitimate or Valid Hypothesis.
37eqar
AIGATTA T 57 I+ ANTHA A D! ol bifoTd | 5+5=10

What is analogical argument? Compare it with scientific induction.
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What do you understand by fault explanation ? Explain its
different forms.

DG
o &1 T eref 87 SareRvr aftd W @ | 10
What is the meaning of Law? Clear with examples.
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What is classification? What are its rules?
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What is meant by scientific classification? Explain its limits.
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Explain the Canons of Elimination
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Explain and illustrate the method of concomitant variations. What
are its special features? 5+5=10
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Write notes on the following-
Fallacy of Accident
Fallacy of false cause
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Examine the following arguments and indicate the fallacies, if any

in them:

(i) Criminals and dangerous lunatics need to be locked up
somewhere. Therefore people freedom should be taken away.

(ii) Senator can’t even feel the wind of slander. Therefore He is so
honest that he cannot be corrupted.

(iii) Wives of successful people wear expensive clothes. Therefore
the best way for a woman to make her husband successful is to
buy expensive clothes.



